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12  1, 6  2, 4  3, 24  0.5
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d)



5

A

B

C

D

a) ‘l’, ‘b’

b) ABC

l

A

B

D

C

b

a) AB, CD 

b)

B C

5

6

A

B C

5

6

5

A

CB 6

A



6

1

10

7
6

10

1

100

35
2

100



7

5 4 
4

5
10

5.4
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2 325 .......... .......... 
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23 3 ............... ...............

5 125 .......... .......... 
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10
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35
2

100

7 7
359.7 359 359

10 10
  

359 = (3  100) + (5  10) + (9  1)

359.7 = (3  100) + (5  10) + (9  1) + (7  
1

10
)

395.74 

359.74 = (3  100) + (5  10) + (9  1) + (7  
1

10
) + (4  

1

100
)

(i) 32.93 = (3  10) + (2  1) + (9  
1

10
) + (3  

1

100
)

(ii) 43.5 =

(iii) 623.52 =

(iv) 314.16 =

(v) 25.741 =



9

=  510+425 = 150 

p, n t

 p n 

 = ____________

t  = _____________

x x + (x + 2)

(x + y) + (x – y) = 2x

(x + y) – (x – y) = 2y

i) x+y = 7, x - y = 3  x = ......, y  = .......

ii) a+b = 15,  a-b = 5  a = ....., b =......

iii)

iv) 
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i)

x 

x + 3 = 15

x =.....

ii)

iii)

=  34 

+ =  ____________

x 

 x + (x + 1) =  _______________

x  =  _________

=  __________ 

=  __________
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a)

b)

c)

d)

e)
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a)

b) 1 cm 

1)

=  ______________

=  ______________

=  ______________

=  ______________
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2)

=  ______________

=  ______________

=  ______________

3)

=  ______________

=  ______________

=  ______________
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A, B  AB

AB =6cm, A = 70º, B = 50º ABC

ABC 

2 +  2  = 2
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AB BC CA

6cm 8cm ______

5cm ______ 13cm

______ 20cm 25cm
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AB, CD, EF PQ = 3 cm, QR = 4 cm 

XY, YZ, XZ

APQ,  CQP,  CQF,  APE,  EPB,  FQD

AB, CD

A

C

P

X

Y

Q

B

D
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a) AXP,   CYP

b)

c)

d)

PS,  QR P, Q, R, S

a)

b)

c)

d)

e)

f)

g)

h)
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AB, CD AP = PB

APC

PBC, ABC, ABD
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AB = 7 ,  A = 70o,  B = 65o

AB = 7 ,  A = 100o,  B = 25o

AB = 6 ,  BC = 6.5 ,  B = 45o

1 2 4 5 1
, , , ,

2 3 3 4 3

AB = 8 cm,  A = 65
o
,  B = 65

o
,  ABC

PQ = 4 cm,  P = 65
o
,  Q = 65

o
,  PQR

PQ, BC

PQA
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•

•

•

•

•

•

•

•

x

a)

b)

2 

3 

2 

3 x 
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x

a) = ................

b) = ................

c) = 2 ( ............ + ...........)

=

d) = (..............)    (.............)

= ........... + ............. + ............. + .............

= ...................

a) ( x + 3) ( x + 4)

b) ( x2 + 2) ( x + 1)

c) ( x + 5 ) ( x2 + 3x +1)

2 
  

x 

3 x 
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= 9 + 16 + 12

= 37

(i)

(ii)

(iii)

9 

16 

12 

15 

21 

18 

5 

5 

5 
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5 

12 

(iv)

ABC 

=
1

2
 bh

=
1

2
  12   4 = 24 

12 

4 

4 

3

6 3.5 

2 
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PQR

ABCDE

20 

6 

6 

4  
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AF

AB =  
1
5

AF

AC = _____  AB

AC = _____  AF

AF = _____  AB

AC = _____  AD

AE = _____  AF

AE = _____  AC

A B C D E F

1

1

1
2

3

4

2

3

1

2
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1

5

2

3

5

1

2

1 5 3 4 8 7
, , , , ,

4 6 11 5 9 10

a) (-5) - (-7)

b) (-5) - (7)

c) (-5) - (-4)

d) (-5) - (4)

e)
1 1

2 3


f)
1 2

2 3


g) 5 + -7

h) 7 + -5

i)
1 1

2 2


j)
5 1

7 5


k)
6 3

7 7


l) 5 - (-2)

m) 2 - (-5)

n) 5 + -5
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a)

b)

c)
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a)

b)

c)

a)

b)

c)
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a)

b)

c)
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a)

b)

c)

a)

b)

a)

b)



31

a)

b)

c)

a)

b)

1
1

2

1

2
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1 110

2 130

3 120

4 140

5 100

= 110 + 130 + 120 + 140 + 100

= 600

270  120 = 32400
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 24,  40,  36,  30,  50

10 3

20 2

30 4

40 6

50 11

60 8

70 7

80 4

a)

b)

c)

d)


